DLBINGSM01_Lektion01_Frage01
The Brazilian capital Brasilia is a prime example of … ...
· … how to plan a modern city and interconnect different modes of transport. (0 pts)
· … ...how policy-makers correctly anticipated the role of the car in the late 20th/early 21st century. (0 pts)
· …inappropriate priorities when planning a comparatively young city. (1 pts1 pt)
· … ...a potential blueprint to solve the problems of major cities and conurbations worldwide. (0 pts)
DLBINGSM01_Lektion01_Frage02
What new challenges will the German railway (Deutsche Bahn) face over the next few decades? It must find solutions for …
· … ...adapting its capacity to an unexpected downturn in demand. (0 pts)
· … ...interlinking with the air taxi infrastructure in all major German cities announced by the Minister of State for Digitalization. (0 pts)
· … ...interconnecting the railways with modern track systems via mobile communications. The current bandwidths are insufficient. (0 pts)
· … ...competing with self-driving cars while recently purchased trains remain in service. (1 pts1 pt)
DLBINGSM01_Lektion01_Frage03
3. What are the differences between the key definitions of smart mobility? 
· In their technological and sociological approaches. However, only the technological approaches are relevant. A technology-driven concept like smart mobility does not have any social objectives. (0 pts)
· In their environmental and financial approaches. In fact, their objectives are so different as to be diametrically opposed. (0 pts)
· In their technological and sociological approaches. While they may have little in common superficially, they are combined into one overall concept to create smart mobility solutions. (1 pts1 pt)
· In their environmental and financial approaches. Smart mobility solutions use financial means to achieve environmental goals. (0 pts)
DLBINGSM01_Lektion01_Frage04
Which of the following statements is correct? In future, smart cities …
· … ...will bring together the world’s most intelligent people. (0 pts)
· … ...must have a certain minimum size and be capable of guaranteeing 5G network coverage as minimum. (0 pts)
· … ...will interlink different levels of digital urban development to create one overall smart concept. (1 pts1 pt)
· … ...will be replaced by a concept already known as the "“digital village". ”. (0 pts)
DLBINGSM01_Lektion01_Frage05
Tesla has disrupted the car market quite significantly. What are Tesla’s future prospects as a company?
· It will soon have a market share of more than 90 percent % of the electric car market because it owns nearly all the relevant patents. (0 pts)
· It will generate more revenues from marketing its patents than from producing its own cars, because its main area of expertise is in propulsion and the storage of electricity storage. (0 pts)
· Thanks to its research, electric cars will soon be no more expensive than their internal combustion engine counterparts. (0 pts)
· It may become a relevant market player in the long term. Its technology will prevail even if Tesla itself does not survive. (1 pts1 pt)
DLBINGSM01_Lektion02_Frage01
Carsharing …	Comment by David Stockings: There seem to be two correct answers to this question, reflecting the ST.
· … ...is just a new name for an old concept. There is nothing really new about this concept. (0 pts)
· … ...was originally developed a long time ago, but only became affordable when bigger names like Daimler and BMW got on board. (0 pts)
· … ...is a bit like Airbnb for living space. That is why many cities are already considering banning it. (1 pts1 pt)
· … ...has not yet been successful on a peer-to-peer basis. Carpooling is a different story. (1 pts1 pt)
DLBINGSM01_Lektion02_Frage02
What are the differences between sharing and pooling concepts? Sharing and pooling…
· … ...are different words for the same idea. (0 pts)
· … ...differ in terms of timing. When vehicles are used simultaneously, it is called pooling, and when they are used sequentially, it is called sharing. (1 pts1 pt)
· … ...differ in that sharing is always privately organized, whereas pooling is always commercial. (0 pts)
· … ...differ in terms of timing. When vehicles are used simultaneously, it is called sharing, and when they are used sequentially, it is called pooling. (0 pts)
DLBINGSM01_Lektion02_Frage03
Ride-hailing companies like Uber are transforming global markets. What exactly is ride-hailing? Ride-hailing …
· … ...as practisced by Uber is basically a digitalized taxi company. (0 pts)
· … ...combines elements of carsharing and car-pooling plus private and professional transport services. (1 pts1 pt)
· … ...is basically the same as carsharing, only less regulated. (0 pts)
· … ...is a purely urban, modern transport service, where the cars are always in motion to save on parking fees. (0 pts)
DLBINGSM01_Lektion02_Frage04
What role might cable cars play in a modern inner-city mobility concept? Cable cars ......
· … ...are an additional tourist attraction, but do not play any other major role. (0 pts)
· … ...may be particularly useful in heavily built-up areas with difficult geographical conditions. (1 pts1 pt)
· … ...could become a crucial part of the solution to the inner-city problems caused by growing numbers of carsharing vehicles. (0 pts)
· … ...are ideal for point-to-point journeys in existing districts, but irrelevant for new districts. (0 pts)
DLBINGSM01_Lektion02_Frage05
Can air taxis make a significant contribution to solving urban traffic problems? Air taxis …
· … ...could be very useful, but would need to be electric. (0 pts)
· … ...can operate without a license, like drones, and are exempt from airspace surveillance. This makes them particularly attractive and unproblematic to operate. (0 pts)
· … ...could replace helicopter shuttles in cities like New York or Monaco, but there are too many unanswered questions to allow mass operation. (1 pts1 pt)
· … ...tend to carry far more passengers than conventional taxis, and therefore help to improve air quality. (0 pts)
DLBINGSM01_Lektion03_Frage01
What do we know about average mobility expenditure? Average spending on mobility…
· … ...is almost on a par with living costs. People are willing to invest more and more in their mobility. (0 pts)
· … ...is significantly less than expenditure on food, drinks and tobacco. (0 pts)
· … ...is almost entirely attributable to expenditure on petrol. (0 pts)
· … ...is increasingly relevant in today’s globalized world, because mobility is more widely taken for granted and represents a key component of quality of life for many people. (1 pts1 pt)
DLBINGSM01_Lektion03_Frage02
Which of the following statements is correct? Mobility-as-a-Service solutions can …
· … ...help people to afford a bigger car due to falling variable costs. (0 pts)
· … ...overload the mobile phone networks in the big cities and lead to their collapse. (0 pts)
· … ...reduce the need for ticket controls and make travel easier. (1 pts1 pt)
· … ...encourage people to buy a second-hand car rather than a new one. (0 pts)
DLBINGSM01_Lektion03_Frage03
Why do some Mobility-as-a-Service projects fail? Mobility-as-a-Service projects may fail due to …
· … ...technical problems, such as the difficulty of integrating data from different sources. (1 pts1 pt)
· … ...Rresistance from politicians keen to prevent competition to public transport. (0 pts)
· … ...differing interests among stakeholders. This is the only reason. The technological issues are minor and do not pose an obstacle. (0 pts)
· … ...potential customers, because not enough people have smartphones with the correct capabilities. (0 pts)
DLBINGSM01_Lektion03_Frage04
Which requirements must be met for the successful smartification of the existing infrastructure? 
· Investment is needed on a much bigger larger scale. (1 pts1 pt)
· More open WLANs are needed, together with a back door into the router software. (0 pts)
· Today’s fuel and vehicle taxes must be transferred one-to-one to electric cars. (0 pts)
· Any cars without the relevant equipment must be decommissioned. (0 pts)
DLBINGSM01_Lektion03_Frage05
Do smart mobility solutions automatically reduce traffic volumes?
· No, because lower purchase costs for electric cars may make them even more attractive to buy, rather than persuading people to opt out of car ownership. (1 pts1 pt)
· Yes, because the law already prohibits cars from circulating to avoid parking charges, so this will not happen. (0 pts)
· Yes, because who wants to drive when their speed is being monitored? That spoils all the fun of driving. (0 pts)
· No, because the cost of fossil fuels may well drop in response to electrification. (0 pts)
DLBINGSM01_Lektion04_Frage01
Which of the following statements is true? Carsharing providers…
· … ...cannot continue to coexist in the long run. There is only space on the market for one provider. (0 pts)
· … ...are so similar in their business models that they are virtually indistinguishable. (0 pts)
· … ...offer very different interpretations of the concept, e.g. with regards to registration fees, monthly subscriptions and variable costs. (1 pts1 pt)
· … ...will rely on sponsoring sponsorship in future, meaning users can drive the car for free if they watch advertising videos at the traffic lights. (0 pts)
DLBINGSM01_Lektion04_Frage02
Which of the following statements is true? In the competition between private cars and other modes of transport…
· … ...many people routinely use public transport for various routes (such as the journey to work), even if it would be faster by car. (0 pts)
· … ...public transport is edging ahead, now that there is a wide selection of audio books available for smartphones and e-book readers. (0 pts)
· … ...the car is always faster but more expensive. (0 pts)
· … ...transparency is a key consideration. The more information you have about possible delays to your car journey, the more open you become to alternatives. (1 pts1 pt)
DLBINGSM01_Lektion04_Frage03
In sharing models, cars and bicycles should be allocated according to which criteria?
· “First come, Ffirst served” in every instance. Anything else is unfair. (0 pts)
· The criteria will be regulated by law in future. Auction models are the most likely outcome – whoever pays the most gets the vehicle. (0 pts)
· A combination of approaches, e.g. reserving a short time ahead according to the "“first come, first served"” principle. (1 pts1 pt)
· The criteria are irrelevant; it i’s a matter of personal taste. (0 pts)
DLBINGSM01_Lektion04_Frage04
How do can we deter people from using their own cars?
· By being transparent about possible delays to their journey, for example due to high traffic volumes or a lack of available parking spaces. (1 pts1 pt)
· By being transparent about the fact that the alternatives are more environmentally friendly. (0 pts)
· People are often unaware of the wear and tears of a car journey. If these costs were transparent, many people would stop using their cars immediately. (0 pts)
· Driving bans such as those currently in place in selected major German cities are the only efficient solution. (0 pts)
DLBINGSM01_Lektion04_Frage05
What are the disadvantages of a potential merger between different carsharing companies?
· The quality of the vehicles will inevitably decrease due to less reduced competition. (0 pts)
· The prices will be determined via an auction system and (on average) will increase. (0 pts)
· The size of the overall vehicle fleet available for carsharing may be reduced. (1 pts1 pt)
· Customers of both services will have to continue paying for two contracts during the transitional period. (0 pts)
DLBINGSM01_Lektion05_Frage01
What are the differences between indoor and outdoor navigation? The differences…
· … ...are explained partly by the fact that outdoor navigation can access GPS data, while indoor navigation cannot. (1 pts1 pt)
· … ...are marginal. A good system should work smoothly and seamlessly both indoors and outdoors. (0 pts)
· … ...are so fundamental that it is pointless to try and link the two services. (0 pts)
· … ...are enormous. However, this is not a problem, because they have no relevant interfaces. (0 pts)
DLBINGSM01_Lektion05_Frage02
Modern approaches to traffic management are different because…
· … ...Tthey no longer rely solely on measurement data collected from pre-defined points. (1 pts1 pt)
· … ...tThey can contact individual road users via their cell phones. (0 pts)
· … ...Tthey can influence the route taken by each individual car. (0 pts)
· … ...Tthey control the traffic lights accordingaccording to the traffic situation. (0 pts)
DLBINGSM01_Lektion05_Frage03
Which of the following statements is correct? Floating Car Data (FCD) and Floating Car Observer (FCO) are …
· … ...complementary systems. One reads the data of other road users, while the other monitors data usuing cameras. (0 pts)
· … ...two terms for the same thing. (0 pts)
· … ...two approaches that build on one other. Unlike Floating Car Data, Floating Car Observer also monitors road users who are not equipped with the system. (1 pts1 pt)
· … ...essentially new business models for car manufacturers. (0 pts)
DLBINGSM01_Lektion05_Frage04
In future, GPS will face competition from other systems. Why is thatthis?
· GPS technology is owned by the US military. The alternative systems will be independent. (1 pts1 pt)
· GPS is an IBM technology. Siemens and Samsung have each developed alternatives to secure a share of this growing market. (0 pts)
· GPS does not allow accurate positioning and will be insufficient for many future smartphone applications. (0 pts)
· The GPS system is approaching its capacity limits. The makers of competing systems are keen to avert escalating costs. (0 pts)
DLBINGSM01_Lektion05_Frage05
The primary objectives of an efficiency-oriented traffic control system are to minimize stopping and waiting times. True or false?
· True. Stopping and waiting takes up valuable time for road users and causes additional emissions. (1 pts1 pt)
· True. Employers cannot be kept waiting for their employees. (0 pts)
· False. The primary objective is to minimize the number of cars on the roads. (0 pts)
· False. The aim is to optimize occupancy levels in cars through carpooling. (0 pts)
DLBINGSM01_Lektion06_Frage01
Complete the following statement: Without Car2X communication…
· ... customers can save on the cost of largely superfluous sensors. (0 pts)
· … ...bad drivers will have a problems, because they often cause accidents while parking. (0 pts)
· … ...road safety will not be significantly improved. (1 pts1 pt)
· … ...self-driving cars will nevertheless become a reality within the next ten years. (0 pts)
DLBINGSM01_Lektion06_Frage02
In recent decades, the development of car safety systems…
· … ...has changed enormously, mainly because the laws have become stricter. (0 pts)
· … ...has tailed off since the invention of the airbag. (0 pts)
· … ...has been a money-spinner for car manufacturers. For this reason, they constantly make changes which that have no positive impact on safety. (0 pts)
· … ...has changed enormously. In the past, development work focused on mitigating the consequences of an accident. Today, the focus has shifted to actively preventing accidents. (1 pts1 pt)
DLBINGSM01_Lektion06_Frage03
The development of a standard for Car2X communication…
· … ...is now complete. It is known as “"Drive2Go"”. (0 pts)
· … ...has not yet been finalized in detail, but car manufacturers and telecommunications companies use Bluetooth 5.0 as standard. (0 pts)
· … ...might be based on the 4th generation mobile communications standard, if Deutsche Telekom stops opposing it. (0 pts)
· … ...is vital for fault-free operation. However, some key questions still need answering. (1 pts1 pt)
DLBINGSM01_Lektion06_Frage04
What opportunities are created by fitting vehicles with Car2X communications?
· The opportunities are confined to safety aspects. (0 pts)
· Real-time information about the vehicle’s environment can be used to devise value-added services. (1 pts1 pt)
· Real-time information allows advertising to be displayed in the car. (0 pts)
· There are infinite possibilities, the only caveat being that the navigation system cannot access the Car2X data for data privacy reasons. (0 pts)
DLBINGSM01_Lektion06_Frage05
Which problems may arise when using the 3GPP standard in Germany?
· Under new legislation, the increased radiation dose could lead to successful lawsuits. (0 pts)
· The key question is how widely the technology will be available. (1 pts1 pt)
· The new standard is operated by the American military, who which could opt to suspend it. (0 pts)
· German cars are not yet equipped for this frequency range, which could make nationwide use difficult. (0 pts)
DLBINGSM01_Lektion07_Frage01
Why did UbiGo in Gothenburg fail? 
· Because the running costs spiralled out of control. (0 pts)
· Because it was not designed for permanent operation. (1 pts1 pt)
· Due to a combination of avoidable technical problems. (0 pts)
· Because of Swedish bureaucracy. (0 pts)
DLBINGSM01_Lektion07_Frage02
Why does moovel generally need partners? 
· For legal reasons. (0 pts)
· Because the parent company Daimler is unwilling to take any risks. (0 pts)
· Because partners have the required interfaces to a relevant customer base. (1 pts1 pt)
· Because this is the only way it can comply with the data protection guidelines. (0 pts)
DLBINGSM01_Lektion07_Frage03
Which of the following statements best describes the partnership between moovel and SSB in Stuttgart?
· It has improved traffic flow, even though the number of cars has not been reduced. (0 pts)
· It is mainly a way of evading the traffic problems surrounding the Stuttgart 21 construction site. (0 pts)
· It combines the strengths of both companies with a common aim: Tto provide alternatives to the private car. (1 pts1 pt)
· It is intended to maximize the incentives for using home office solutions. (0 pts)
DLBINGSM01_Lektion07_Frage04
What is the most promising strategy for a Mobility-as-a-Service project?
· Trial and error. Be fast to the market with a product. After the first tests, withdraw from the market and refocus, then return to the market with a better product. (0 pts)
· If the test phase is successful, start thinking straight away about how to raise the funds needed for the next step, e.g. via an IPO. (0 pts)
· Clarify the long-term interests of all stakeholders early on, define key success parameters and ensure possible follow-up financing. (1 pts1 pt)
· Cooperate only with public-sector partners to exclude private-sector interests. (0 pts)
DLBINGSM01_Lektion07_Frage05
Which of the following statements is correct?
· The public sector cannot finance MaaS projects. The funding must come from private partners. (0 pts)
· The current legal framework is sufficient for all smart mobility project formats. (0 pts)
· Public partners are essential to avoiding problems in various areas. (1 pts1 pt)
· Research into people’s behavior is needed before the legal framework can be properly defined. (0 pts)

